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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I-  Some vegetarians are not just indifferent to meat; they have a/an —--—------- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an ——e—eeeeee in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ----=- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy Kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless
4-  The singer's mellifluous voice kept the audience --—--aeaeeen for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday -----e-nnnne
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be - to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found ------eeeeux , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8-  The old sailor's skin had become wrinkled and --
sun and the wind.

--- from years of being out in the

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the --------- --- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is t00 —=-emeeeeeee an explanation for this strange phenomenon—I am sure there's

something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ===meeee-x
spatial reasoning. and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeee-
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart, verbal relaxation instructions, and (13) ---—-. They found a temporary

enhancement of spatial-reasoning, (14) ----------—- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) ~=—eeeeeeeme the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

When the last stranded whale of a group eventually dies, the story does not end there.
A team of researchers begins to investigate, collecting skin samples for instance.
recording anything that could help them answer the crucial question: why? Theories
abound, some more convincing than others. In recent years., navy sonar has been
accused of causing certain whales to strand. It is known that noise pollution from
offshore industry, shipping and sonar can impair underwater communication, but can it
really drive whales onto our beaches?

In 1998, researchers at the Pelagos Cetacean Research Institute, a Greek non-profit
scientific group, linked whale strandings with low-frequency sonar tests being carried
out by the North Atlantic Treaty Organization (NATO). They recorded the stranding
of 12 Cuvier's beaked whales over 38.2 kilometers of coastline. NATO later admitted
it had been testing new sonar technology in the same area at the time as the strandings
had occurred. 'Mass' whale strandings involve four or more animals. Typically they all
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wash ashore together, but in mass atypical strandings (such as the one in Greece), the
whales do not strand as a group: they are scattered over a larger area.

For humans, hearing a sudden loud noise might prove frightening, but it does not
induce mass fatality. For whales. on the other hand, there is a theory on how sonar can
kill. The noise can surprise the animal, causing it to swim too quickly to the surface.
The result is decompression sickness, a hazard human divers know all too well. If a
diver ascends too quickly from a high-pressure underwater environment to a lower-
pressure one, gases dissolved in blood and tissue expand and form bubbles. The
bubbles block the flow of blood to vital organs, and can ultimately lead to death.

What does the passage mainly discuss?

1) The effects of sonar on humans and sea creatures

2) Determining the size and weight of stranded whales

3) Why whales leave the ocean and become stuck on beaches

4) How non-profit scientific groups investigate whale strandings

The word "impair" in paragraph 1 could best be replaced by ———--—eeeeeeee,

1) prevent 2) damage 3) enhance 4) maintain

The word "it" in paragraph 1 refers to --------=aeeuuv 5

1) shipping 2) noise pollution

3) offshore industry 4) underwater communication

Which of the following best describes the function of the underlined sentence in

paragraph 2?7

1) It defines a term used in the previous sentence.,

2) It introduces NATO as a major international organization.

3) It supports a scientific claim made earlier in the paragraph.

4) It corrects a common misconception regarding sonar technology.
Which of the following statements is true about decompression sickness?
1) Only a few divers are able to prevent it.

2) It causes bubble formation. which is not very serious.

3) Its symptoms occur within a short time after surfacing.

4) It results from a rapid decrease in surrounding pressure.

PASSAGE 2:

Big trees are incredibly important ecologically. For a start, they sustain countless other
species. They provide shelter for many animals, and their trunks and branches can
become gardens, hung with green ferns, orchids and bromeliads, coated with mosses
and draped with vines. With their tall canopies basking in the sun. they capture vast
amounts of energy. This allows them to produce massive crops of fruit, flowers and
foliage that sustain much of the animal life in the forest.

Only a small number of tree species have the genetic capacity to grow really big.
The mightiest are native to North America, but big trees grow all over the globe, from
the tropics to the boreal forests of the high latitudes. To achieve giant stature. a tree
needs three things: the right place to establish its seedling. good growing conditions
and lots of time with low adult mortality. Disrupt any of these. and you can lose your
biggest trees.
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In some parts of the world, populations of big trees are dwindling because their
seedlings cannot survive or grow. In southern India. for instance., an aggressive
non-native shrub, Lantana camara, is invading the floor of many forests. Lantana
grows so thickly that young trees often fail to take root. With no young trees to replace
them, it is only a matter of time before most of the big trees disappear. Across much of
northern Australia, gamba grass from Africa is overrunning native savannah
woodlands. The grass grows up to four meters tall and burns fiercely, creating
superhot fires that cause catastrophic tree mortality.

What is the author's purpose in paragraph 1?

1) To suggest that huge trees alter the natural ecology

2) To point out what enables huge trees to produce fruit, flowers and leaves

3) To explain why a particular type of plant is noteworthy in terms of ecology

4) To highlight the connections between plants and animals and the physical environment
According to the passage, which of the following statements is true about tall trees?

1) There has been an alarming increase in their death rates.

2) The existence of many other species depends on them.

3) If well-protected, they may grow in great abundance.

4) They are more likely to be found in tropical areas.

Which of the following best describes the function of the underlined sentence in
paragraph 2?

1) It contrasts three different growing conditions.

2) It makes a list of several conditions that are normally hard to create.

3) It emphasizes the importance of seedlings in trees achieving a giant size.

4) It describes the requirements that must be met to fulfill a specific purpose.

Why does the author mention Lantana Camara and gamba grass in paragraph 3?

1) They are causing the decline of some giant forests.

2) They cover giant forests rapidly and then burn them.

3) They cannot get really big without the right growing conditions.

4) They have not been studied as thoroughly as other invasive plants.

The word "fiercely" in paragraph 3 could best be replaced by - >
1) violently 2) chemically 3) dangerously 4) superficially

PASSAGE 3:

For as long as people can remember, small towns like Stone Creek and Pineville in
northern Alabama have been hit by storms every spring. They are as predictable as the
apple blossoms that are always shaken loose from the trees and blown along the
country roads. Some trees may be knocked over or the roof of a building might be
slightly damaged but usually the effects of the storms are more inconvenient than
deadly. This year was different.

Last night, a powerful storm roared into the area, sending devastating tornadoes
spinning through the small farming communities. It destroyed farms. schools and
churches and buried people in the ruins of their own homes. It transformed the
landscape. Herds of cattle that had been moved into barns for safety are nowhere to be
seen. nor are the barns. Other buildings where tractors and equipment were being
stored seem to have been completely blown away.
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The scenes of devastation this morning are described by one rescue worker as 'like
the end of the world'. Since first light, rescue crews have been moving through the
countryside, looking for survivors. Small teams have had to be flown in to some areas
by helicopter because the roads have been blocked by dozens of fallen trees. In other
areas, rescuers do not know what they will find as they search through the debris. "We
are guessing that there are some people who may have been pinned down under their
own ceilings,' says Greg Hayden, a firefighter from Atlanta. 'Sometimes we cannot tell
the houses from the stables or the garages. It is a mess. Dozens of people and animals
could have been buried in there.

What is the main topic of the passage?

1) A fatal storm hitting an area

2) How rescuers responded to an emergency

3) An interesting phenomenon in Northern Alabama

4) Environmental impacts of storms on small towns

According to the passage, apple blossoms falling off trees --——--—-—-ev--,

1) makes the country roads more beautiful than ever

2) is expected to happen at a particular time

3) cannot be previously forecasted

4) heralds an approaching storm

The word "transformed" in paragraph 2 is closest in meaning to ------------ —
1) shaped 2) conserved 3) devastated 4) changed
Which of the following best describes the meaning of the underlined sentence in paragraph 2?
1) Neither the cattle nor the barns can be seen anywhere.

2) The cattle had been moved to safe places other than the barns.

3) Neither the barns nor the cattle are carried away by the storm.

4) The cattle were safe neither in the barns nor in any other places.
According to the passage, teams of rescuers --—--—eeeeeeee,

1) have been sifting through the ruins

2) have found some people alive in the debris

3) are working under a firefighter's leadership

4) can use any form of transportation to reach the affected areas
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